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Question: 121

What is a prerequisite for using RAID Manager/CCI CLI?

A. a license key
B. a system disk
C. a Journal volume
D. a Command Device

Answer: A,D

Question: 122

Which model of the VSP Gx00 series canbe upgraded to another VSP Gx00model?

A. VSP G200
B. VSP G400
C. VSP G600
D. VSP G800

Answer: B

Question: 123

From which two locations can the Maintenance Utility be Invoked on a VSP G800? (Choose two.) Choose 2 answers

A. the SVP Web Console
B. Hitachi Command Suite (HCS)
C. Hitachi Infrastructure Director (HID)
D. MPC connected to the Maintenance LAN port on the array

Answer: B,D

Question: 124

Which two Channel Blade types are supported on the VSP Gx00series? (Choose two.) Choose 2 answers

A. FC
B. SAS
C. iSCSI
D. FICON

Answer: A,C

Question: 125

You are installing six VSP Gx00 systems at a customer site.

Which tool allows you to apply the licenses to all the systems at the same time?

A. Initial Setup Tool
B. Device Manager - Storage Navigator



C. SVP Web Console
D. HCS License Key Management System

Answer: A

Question: 126

Which two messaging methods can be enabled In the Maintenance Utility of the VSP Gx00series? (Choose two.)
Choose 2 answers

A. SMS
B. Email
C. SNMP
D. Hi-Track

Answer: B,C

Question: 127

You have just completed a firmware upgrade on a VSP G600.

Under which Hitachi Device Manager - Storage Navigator tab can you confirm the version number of the newly
upgraded firmware?

A. View
B. Actions
C. Reports
D. Maintenance Utility

Answer: D

Question: 128

What does Universal Volume Manager (UVM) allow on the VSP Gx00 systems?

A. to create virtual servers
B. to use MPs on the attached disk storage
C. to create LUNs on the attached disk storage
D. to map disk space from the attached disk storage

Answer: A

Question: 129

Which two mechanisms are used to maintain redundancy after a disk failure? (Choose two.) Choose 2 answers

A. quick copy
B. correction copy
C. dynamic sparing
D. emergency destage

Answer: A,B



Question: 130

You are installing a VSP G400 at a customer site.

Which three items get configured when you launch the Initial Setup Tool? (Choose three.) Choose 3 answers

A. License
B. Hi-Track
C. Date and time
D. FC port topology
E. System information

Answer: A,C,E




